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Solution 
 

Exercice 07 : 

1) Here is a pascal program that calculates the Nth term UN of the FIBONACCI sequence 

which is given by the recurrence relation: 

U1=1, U2=1, UN = UN -1 + UN -2 (for N>2). N is given by the user.  

 

 

 

 

 

 

 

 

 

 

Program fibonacci; 

var N,un,u1,u2,i : integer; 

Begin 

writeln('Give the value N'); 

readln(N);          

u1:=1; 

u2:=1; 

For i:=3 to N Do 

Begin 

un:=u1+u2; 

u1:=u2; 

u2:=un; 

end; 

writeln('u',N,'= ',un); 

readln; 

end. 



 

 

 

After program running, here's the display: 

 

 
 


